

## L-VAGUE CUT SET ON L-VAGUE SEMIRINGS OF L-SEMIRING

R.Panduranga Rao,Dr.V.S.Kumar\*, Dr.A.Prabhu Kumar\*\*,

*Assistant.Professor,Department of Humanities and Basic sciences,  
Ellenki college of Engineering and Technology,Patelguda village,  
Ameenpur,Sangareddy-502319, Telangana state,India.*

*\*Department of Mathematis,JNTUH College of Engineering,JNTU Kukatapally  
Hyderabad,Telangana state, India.*

*\*\*Department of Mechanical Engineering,JNTUH College of Engineering,  
JNTU Kukatpally, Hyderabad, Telangana state,India,*

### Abstract

In this paper we introduce L-vague cut-set,L- vague semiring of a L-Semiring and studied their properties.These concepts are used in the development of some important results and theorems about L-vague cut-set and L-vague semiring of a L-semiring.Also some of their important properties have been investigated.

**Keywords:** Vague set,L-vague cut-set,L-vague Semiring, L-seiring.

**Mathematics Subject Classification (2000):** 08A72, 20N25,03F55.

### Introduction

The concept proposed by Zadeh.L.A.[16] defining a fuzzy subset A of a given universe X characterizing the membership of an element x of X belonging to A by means of a membership function  $\mu_A$  defined from X into [0, 1] has revolutionized the theory of Mathematical modeling .Decision making etc.,in handling the imprecise real life situations mathematically.Now ,several branches of fuzzy mathematics like fuzzy algebra ,fuzzy topology ,fuzzy control theory ,fuzzy measure theory etc.,have emerged. But in the decision making ,the fuzzy theory takes care of membership of an element x only,that is the evidence against x belonging to A .It is felt by several decision makers and researchers that in proper decision making,the evidence belongs to A and evidence not belongs to A are both necessary .and how much X belongs to A or how much x does not belongs to A are necessary. Several generalizations of Zadeh's fuzzy set theory have been proposed,such as L-fuzzy sets [5]. Interval valued fuzzy sets ,Intuitionistic fuzzy sets by Atanassov.K.T [1] ,Vague sets [4] are mathematically equivalent.Any such set A of a

given Universe X can be charactierized by means of a pair of function  $(t_A, f_A)$  where  $t_A$  and  $f_A$  are functions from X in to [0 1] such that  $0 \leq t_A(x) + f_A(x) \leq 1$  for all x in X.The set  $t_A$  is called the truth function and the set  $f_A$  is called false function or non membership function and  $t_A(x)$  gives the evidence of how much  $x \in A$   $f_A(x)$  gives the evidence of how much x does not  $\in A$ .These concepts are being applied in several areas like decision making, fuzy control, knowledge discovery and fault diagonsis etc.It is believed the vague sets (or equivalently instuitionistic fuzzy sets) will more useful in decision making, and other areas of Mathematical modeling.Through Atanassov's instuitionistic fuzzy sets,Gau and Buehrer and some other areas of Mathematical modeling.Since then the theory fuzzy sets developed extensively and embraced almost all subjects like engineering science and Technology.But the membership function  $\mu_A$  gives only a approximation belong to A .To avid this and obtain a better estimation and analysis of data decision making.

Gau.W.L and Bueher D.J. [4] have initiated the study of vague sets with the hope that they form a better tool to understand,interpret and solve real life problems which are in general vague,than the theory of vague sets do.Ranjit Biswas[10] initiated the study of vague groups and Ramakrishna.N [9 ], [11 ],[13 ],Ramakrishana.N,T. Eswarlal.T[16],[ 9],[11] are grate extended the study of vague algebra.The study L-vague sets of a vague set X,as a pair of function  $(t_\mu, f_\mu)$  where  $t_\mu : X \rightarrow L, f_\mu : X \rightarrow L$  are L-mapings such that  $t_\mu \leq 1_L - f_\mu$  and  $f_\mu \leq 1_L - t_\mu$ . The function  $t_\mu : X \rightarrow L$  define the the degrees of membership function and the function  $f_\mu : X \rightarrow L$  degrees of non membership function of the element  $x \in X$  to  $\mu \subset X$  respectively .The L-vague sets  $t_\mu$  and  $f_\mu$  should satisfy the conditions  $t_\mu(x) \leq 1_L - f_\mu(x)$  and  $f_\mu(x) \leq 1_L - t_\mu(x)$ . for ever x in X (where  $1_L - t_\mu(x)$  and (where  $1_L - f_\mu(x)$  are elements of Brouwerian lattice L,defined by means of the formula  $(1_L - t_\mu(x)) = inf\{\alpha \in L :$

$1_L = t_\mu(x) \vee \alpha$  for ever  $x$  in  $X$ ) and  $(1_L - f_\mu(x)) = \inf\{\alpha \in L : 1_L = f_\mu(x) \vee \alpha\}$  for ever  $x$  in  $X$ ). In this paper we introduced L-vague cut-set and L-vague semiring of L-Semiring respectively. The objective of this paper is to contribute further, to the study of vague algebra by introducing concepts of L-vague cut-set and L-vague semiring of L-Semiring also homomorphism of L-vague semiring of a L-Semiring.

### 1. Preliminaries

In this section we briefly present the necessary material on lattices, Boolean lattices, Brouwerian lattices and illustrate with examples.

**Definition 1.1** [15] A poset  $(L, \leq)$  is called a lattice if  $\sup\{x, y\}$  also denoted by  $(x \vee y)$  and  $\inf\{x, y\}$  also denoted by  $(x \wedge y)$  exists for every pair of elements  $x, y$  in  $L$ .

**Definition 1.2** [15] A lattice  $(L, \leq)$  in which every subset of  $L$  has g.l.b and l.u.b in it is called a complete lattice.

**Definition 1.3** [15] A lattice  $L$  is said to be distributive if it satisfies  $x \wedge (y \vee z) = (x \wedge y) \vee (x \wedge z)$  and  $x \vee (y \wedge z) = (x \vee y) \wedge (x \vee z)$  for all  $x, y, z$  in  $L$ .

**Definition 1.4** [15] A lattice  $L$  is said to be bounded if  $L$  has least element and greatest element. usually least element of  $L$  is denoted by  $0_L$  and greatest element is denoted by  $1_L$

**Definition 1.5** [15] An L-vague set  $\mu$  in  $X$  is a pair  $\mu = (t_\mu, f_\mu)$  where  $t_\mu : X \rightarrow L$   $f_\mu : X \rightarrow L$  are mappings such that  $t_\mu \leq 1_L - f_\mu$  and  $f_\mu \leq 1_L - t_\mu$ . The mapping  $t_\mu : X \rightarrow L$  is defined the degree of membership function and  $f_\mu : X \rightarrow L$  defined by the degree of non membership function of the element  $x \in X$  to  $\mu \subset X$  respectively. The function  $t_\mu, f_\mu$  satisfy the condition  $t_\mu \leq 1_L - f_\mu$  and  $f_\mu \leq 1_L - t_\mu$  ie  $t_\mu(x) \leq 1_L - f_\mu(x)$  and  $f_\mu(x) \leq 1_L - t_\mu(x)$  for  $x$  in  $X$ , where  $1_L - t_\mu(x)$  and  $1_L - f_\mu(x)$  are elements in Brouwerian lattice  $L$ .

we recall here that in ordinary vague sets and Boolean vague sets if  $(t_A, f_A)$  is a vague set or Boolean vague set then the condition  $t_A \leq 1 - f_A$  or  $t_A \leq f_A^1$  implies  $f_A \leq 1 - t_A$ ,  $f_A \leq t_A^1$ . But in our L-vague sets it is not the case, and so in the definition itself we have included that  $t_A \leq 1_L - f_A^1$  and  $f_A \leq 1_L - t_A^1$  which is not un natural as this implies that truth is contained in the complement of falsity and falsity is contained in the complement of truth.

**Definition 1.6** [15] Let  $(G, *)$  be a group. An L-vague set  $A = (t_A, f_A)$  of  $G$  is said to be L-vague group of  $G$  if it satisfies the following conditions

- (1)  $V_A(xy) \geq \vee\{V_A(x), V_A(y)\}$  for all  $x, y \in G$  (2)  $V_A(x^{-1}) \geq \{V_A(x)\}$  ie
- (1)  $t_A(xy) \geq \wedge\{t_A(x), t_A(y)\}$
- (2)  $f_A(xy) \leq \vee\{f_A(x), f_A(y)\}$
- (3)  $t_A(x^{-1}) \geq t_A(x)$  (4)  $f_A(x^{-1}) \leq f_A(x)$  for all  $x, y \in G$

**Definition 1.7** [8] Let  $A$  be a Vague group of a group  $G$  then the set  $N(A)$

$= \{a \in G | V_A(axa^{-1}) = V_A(x) \text{ for all } a, \in G\}$  is called vague normalizer of  $A$ .

**Definition 1.8** [8] Let  $A$  be a vague group of a group  $G$  Then the Set  $C(A)$

$= \{a \in G | V_A([a, x]) = V_A(e) \text{ for all } x \in G\}$  is called vague centralizer of  $A$ , where  $[a, x] = a^{-1}x^{-1}ax$ .

**Definition 1.9** [2] Let  $A$  be a vague group of  $G$ , and  $GV_A = \{x \in G : V_A(x) = V_A(e)\}$ . then the order of  $A$  is defined as the order of the crisp sub group  $GV_A$  and it is denoted by  $O(A)$ .

### 2. L-Vague Cut-set on L-Vague Semirings of L-semiring

In this section we define the following

**Definition 2.1** Let  $S$  be a L-semiring. An L-vague set  $A = (t_A, f_A)$  is said to be L-vague semiring of L-semiring  $S$  if it satisfies the following properties.

1.  $t_A(x + y) \geq \wedge\{t_A(x), t_A(y)\}$  and  $f_A(x + y) \leq \vee\{t_A(x), t_A(y)\}$
2.  $t_A(xy) \geq \wedge\{t_A(x), t_A(y)\}$  and  $f_A(xy) \leq \vee\{t_A(x), t_A(y)\}$
3.  $t_A(x \wedge y) \geq \wedge\{t_A(x), t_A(y)\}$  and 4.  $f_A(x \vee y) \leq \vee\{t_A(x), t_A(y)\}$

**Definition 2.2** Let  $A$  be an L-vague semiring of L-semiring  $S$ . Then the true  $\alpha$ -cut set  $t_{A\alpha}$  can be defined by  $t_{A\alpha} = \{x \in S : t_A(x) \geq \alpha\}$ .

**Definition 2.3** Let  $A$  be an L-vague semiring of L-semiring  $S$ . Then the false  $\alpha$ -cut set  $f_{A\alpha}$  can be defined by  $f_{A\alpha} = \{x \in S : f_A(x) \leq \beta\}$ .

**Definition 2.4** Let  $A$  be an L-vague semiring of L-semiring  $S$ . Then the L-vague cut set  $A_{(\alpha, \beta)}$  can be defined by  $A_{(\alpha, \beta)}(x) = \{x \in S : t_A(x) \geq \alpha \text{ and } f_A(x) \leq \beta\}$ . for all  $\alpha, \beta \in [0, 1]$ .

**Theorem 2.5** Let  $A$  L-vague semiring of a L-semiring  $S$ . Then true cut set  $t_{A\alpha}$  is L-vague semiring of a L-semiring  $S$  for  $\alpha \in [0, 1]$ .

**Proof** Let  $x, y$  be any in true  $\alpha$  cut set  $t_{A\alpha}$ .

- $\Rightarrow t_A(x) \geq \alpha$  and  $t_A(y) \geq \alpha$ .
1.  $t_A(x + y) \geq \vee\{t_A(x), t_A(y)\} = \vee\{\alpha, \alpha\} = \alpha$   
 $\Rightarrow t_A(x + y) \geq \alpha$  for all  $x, y$  in  $t_{A\alpha}$ .
2.  $f_A(x + y) \leq \wedge\{f_A(x), f_A(y)\} = \vee\{\alpha, \alpha\} = \alpha$   
 $\Rightarrow f_A(x + y) \leq \alpha$  for all  $x, y$  in  $t_{A\alpha}$ .
3.  $t_A(x \wedge y) \geq \vee\{t_A(x), t_A(y)\} = \vee\{\alpha, \alpha\} = \alpha$   
 $\Rightarrow t_A(x \wedge y) \geq \alpha$  for all  $x, y$  in  $t_{A\alpha}$ .
4.  $f_A(x \vee y) \leq \wedge\{f_A(x), f_A(y)\} = \vee\{\alpha, \alpha\} = \alpha$   
 $\Rightarrow f_A(x \vee y) \leq \alpha$  for all  $x, y$  in  $t_{A\alpha}$ .
5.  $t_A(xy) \geq \vee\{t_A(x), t_A(y)\} = \vee\{\alpha, \alpha\} = \alpha$   
 $\Rightarrow t_A(xy) \geq \alpha$  for all  $x, y$  in  $t_{A\alpha}$ .
6.  $f_A(xy) \leq \wedge\{f_A(x), f_A(y)\} = \vee\{\alpha, \alpha\} = \alpha$   
 $\Rightarrow f_A(xy) \leq \alpha$  for all  $x, y$  in  $t_{A\alpha}$ .

Hence  $t_{A\alpha}$  is L-vague semiring of a L-semiring  $S$  for  $\alpha \in [0, 1]$ .

**Theorem 2.6** Let A L-vague semiring of a L-semiring S. Then two true cut sets  $t_{A\alpha_1}, t_{A\alpha_2}$  and  $\alpha_1, \alpha_2$  are in  $[0, 1]$  with  $\alpha_1 < \alpha_2$  of A are equal if and only if there is no x in S such that  $\alpha_2 > t_A(x) > \alpha_1$ .

**Proof** Assume that  $t_{A\alpha_1} = t_{A\alpha_2}$   
 suppose there exists x in S such that  $\alpha_2 > t_A(x) > \alpha_1$ .  
 Then  $t_{A\alpha_1} \subseteq t_{A\alpha_2}$   
 $\Rightarrow x \in t_{A\alpha_2}$  but not in  $t_{A\alpha_1}$   
 $\Rightarrow$  which is a contradiction to  $t_{A\alpha_1} = t_{A\alpha_2}$   
 Therefore there is no x in S such that  $\alpha_2 > t_A(x) > \alpha_1$ .  
 Conversely suppose that if there is no x in S such that  $\alpha_2 > t_A(x) > \alpha_1$ .  
 Then  $t_{A\alpha_1} = t_{A\alpha_2}$ . Hence the theorem follows.

**Theorem 2.7** Let A be a L-vague semiring of L-semiring S such that  $t_{A\alpha}$  be true  $\alpha$  cut-set of S. If  $\alpha \in [0, 1]$ , then  $t_{A\alpha}$  is a L-vague semiring of L-semiring S.

**Proof** Let A be a L-vague semiring of L-semiring S and  $t_{A\alpha}$  be true  $\alpha$  cut-set of S.  $\Rightarrow t_A(x) \geq \alpha$  and  $t_A(y) \geq \alpha$

case : (i)  
 If  $\alpha_1 \geq \alpha_2$  then x, y in  $t_{A\alpha_2}$   
 as  $t_{A\alpha_2}$  is a L-vague semiring of L-semiring S, then  $x + y, xy, x \vee y, x \wedge y$  in  $t_{A\alpha_2}$ .  
 Now, (1)  $t_A(x + y) \geq \alpha_2 = \vee\{\alpha, \alpha\} = \vee\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(x + y) \geq \vee\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (2)  $f_A(x + y) \leq \alpha_2 = \wedge\{\alpha, \alpha\} = \wedge\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(x + y) \geq \wedge\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (3)  $t_A(xy) \geq \alpha_2 = \vee\{\alpha, \alpha\} = \vee\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(xy) \geq \vee\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (4)  $f_A(xy) \leq \alpha_2 = \wedge\{\alpha, \alpha\} = \wedge\{f_A(x), f_A(y)\}$   
 $\Rightarrow f_A(xy) \geq \wedge\{f_A(x), f_A(y)\}$  for all x,y in S.  
 (5)  $t_A(x \vee y) \geq \alpha_2 = \vee\{\alpha, \alpha\} = \vee\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(x \vee y) \geq \vee\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (6)  $f_A(x \wedge y) \leq \alpha_2 = \wedge\{\alpha, \alpha\} = \wedge\{t_A(x), t_A(y)\}$   
 $\Rightarrow f_A(x \wedge y) \geq \wedge\{f_A(x), f_A(y)\}$  for all x,y in S.

case : (ii)  
 If  $\alpha_1 \leq \alpha_2$  If  $\alpha_1 \leq \alpha_2$  then x, y in  $t_{A\alpha_2}$   
 as  $t_{A\alpha_2}$  is a L-vague semiring of L-semiring S, then  $x + y, xy, x \vee y, x \wedge y$  in  $t_{A\alpha_2}$ .  
 (1)  $t_A(x + y) \geq \alpha_2 = \vee\{\alpha, \alpha\} = \vee\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(x + y) \geq \vee\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (2)  $f_A(x + y) \leq \alpha_2 = \wedge\{\alpha, \alpha\} = \wedge\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(x + y) \geq \wedge\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (3)  $t_A(xy) \geq \alpha_2 = \vee\{\alpha, \alpha\} = \vee\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(xy) \geq \vee\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (4)  $f_A(xy) \leq \alpha_2 = \wedge\{\alpha, \alpha\} = \wedge\{f_A(x), f_A(y)\}$   
 $\Rightarrow f_A(xy) \geq \wedge\{f_A(x), f_A(y)\}$  for all x,y in S.  
 (5)  $t_A(x \vee y) \geq \alpha_2 = \vee\{\alpha, \alpha\} = \vee\{t_A(x), t_A(y)\}$   
 $\Rightarrow t_A(x \vee y) \geq \vee\{t_A(x), t_A(y)\}$  for all x,y in S.  
 (6)  $f_A(x \wedge y) \leq \alpha_2 = \wedge\{\alpha, \alpha\} = \wedge\{t_A(x), t_A(y)\}$   
 $\Rightarrow f_A(x \wedge y) \geq \wedge\{f_A(x), f_A(y)\}$  for all x,y in S.

case : (iii)  
 If  $\alpha_1 = \alpha_2$  then the proof is trivial, in all the above cases  $t_{A\alpha}$  is a L-vague semiring of L-semiring S.

**Theorem 2.8** Let A be a L- vague semiring of a L-semiring S. If for any two true  $\alpha$ -sets  $t_{A\alpha_1}, t_{A\alpha_2}$  of A in S, then their intersection is also L- vague semiring of a L-semiring S.

**Proof**  $\alpha_1, \alpha_2 \in [0, 1]$   
 case : (i)  
 $\alpha_1 < t_A(x) < \alpha_2$  then  $t_{A\alpha_1} \subseteq t_{A\alpha_2}$   
 therefore  $t_{A\alpha_1} \cap t_{A\alpha_2} = t_{A\alpha_1}$  but  $t_{A\alpha_1}$  is a true  $\alpha$ -cut set of S.  
 case : (ii)  
 $\alpha_1 > t_A(x) > \alpha_2$  then  $t_{A\alpha_1} \subseteq t_{A\alpha_2}$   
 therefore  $t_{A\alpha_1} \cap t_{A\alpha_2} = t_{A\alpha_1}$  but  $t_{A\alpha_2}$  is a true  $\alpha$ -cut set of S.  
 case : (iii)  
 $\alpha_1 = t_A(x) < \alpha_2$  then  $t_{A\alpha_1} = t_{A\alpha_2}$ .  
 In all the three cases their intersection is also L- vague semiring of a L-semiring S.

**Theorem 2.9** Let A be a L- vague semiring of a L-semiring S. If for any two true  $\alpha$ -sets  $t_{A\alpha_1}, t_{A\alpha_2}$  of A in S, then their union is also L-vague semiring of a L-semiring S.

**Proof**  $\alpha_1, \alpha_2 \in [0, 1]$   
 case : (i)  
 $\alpha_1 < t_A(x) < \alpha_2$  then  $t_{A\alpha_1} \subseteq t_{A\alpha_2}$   
 therefore  $t_{A\alpha_1} \cup t_{A\alpha_2} = t_{A\alpha_1}$  but  $t_{A\alpha_1}$  is a true  $\alpha$ -cut set of S.  
 case : (ii)  
 $\alpha_1 > t_A(x) > \alpha_2$  then  $t_{A\alpha_1} \subseteq t_{A\alpha_2}$   
 therefore  $t_{A\alpha_1} \cup t_{A\alpha_2} = t_{A\alpha_1}$  but  $t_{A\alpha_2}$  is a true  $\alpha$ -cut set of S.  
 case : (i)  
 $\alpha_1 = t_A(x) < \alpha_2$  then  $t_{A\alpha_1} = t_{A\alpha_2}$ .  
 In all the three cases their union is also L- vague semiring of a L-semiring S.

### 3. Homomorphism of L-vague cut-set on L-Vague Semiring of a L-Semiring.

In this section we define the following  
**Definition 3.1** Let  $S_1$  and  $S_2$  be two L-semirings and  $\phi : S_1 \rightarrow S_2$  be a mapping. Let A be a L-vague set of  $S_1$ . Then the image of L-vague set A can be defined by  $(V_{\phi(A)}(x) = (t_{\phi(A)}(x), f_{\phi(A)}(x)))$  where  $t_{\phi(A)}(x) = t_A(\phi(x))$  and  $f_{\phi(A)}(x) = f_A(\phi(x))$ .

**Definition 3.2:** Let  $S_1$  and  $S_2$  be two semirings and  $\phi : S_1 \rightarrow S_2$  be a mapping. Let A be a l-vague set of  $S_2$ . Then the inverse image of L-vague set A can be defined by  $(V_{\phi^{-1}(A)}(x) = (t_{\phi^{-1}(A)}(x), f_{\phi^{-1}(A)}(x)))$  where  $t_{\phi^{-1}(A)}(x) = t_A(\phi^{-1}(x))$  and  $f_{\phi^{-1}(A)}(x) = f_A(\phi^{-1}(x))$ .

**Theorem 3.3:** The homomorphic image of a true cut-set  $t_{A\alpha}$  of L-vague semiring of L-semiring  $S_1$  is true cut-set  $t_{A\alpha}$  of L-vague semiring of L-semiring  $S_2$ .

**Proof:** Let  $S_1, S_2$  be any two L vague semirings and  $\phi : S_1 \rightarrow S_2$  be a semiring homomorphism.  
 Then  $\phi(x + y) = \phi(x) + \phi(y), \phi(xy) = \phi(x)\phi(y)$   
 $\phi(x \vee y) = \phi(x) \vee \phi(y), \phi(x \wedge y) = \phi(x) \wedge \phi(y)$

$\phi(x \wedge y) = \phi(x) \wedge \phi(y), \phi(x \vee y) = \phi(x) \vee \phi(y)$  for all  $x, y$  in  $S_1$

true cut-set  $t_{A\alpha}$  of L-vague semiring of L-semiring  $S_1$

$$\Rightarrow t_A(x) \geq \alpha \text{ and } t_A(y) \geq \alpha$$

$$\Rightarrow t_A(x + y) \geq \alpha \text{ and } t_A(xy) \geq \alpha$$

(1) Let  $x, y \in S_1$ .

We have  $t_A(\phi(x) + \phi(y)) = \{t_A(\phi(x + y))\} \geq t_A(x + y)$

since  $\phi$  is a homomorphism

$$\geq \wedge \{t_A(x), t_A(y)\}$$

$$= \wedge \{t_A(\phi(x)), t_A(\phi(y))\}$$

$$\therefore t_A(\phi(x + y)) \geq \wedge \{t_A(\phi(x)), t_A(\phi(y))\} \dots (3.3.1)$$

(2) Let  $x, y \in S_1$ .

We have  $f_A(\phi(x) + \phi(y)) = \{f_A(\phi(x + y))\} \leq f_A(x + y)$

since  $\phi$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi(x)), f_A(\phi(y))\}$$

$$\therefore f_A(\phi(x + y)) \leq \vee \{f_A(\phi(x)), f_A(\phi(y))\} \dots (3.3.2)$$

(3) Let  $x, y \in S_1$ .

We have  $t_A(\phi(x) \cdot \phi(y)) = \{t_A(\phi(xy))\} \geq t_A(xy)$

since  $\phi$  is a homomorphism

$$\geq \wedge \{t_A(x), t_A(y)\}$$

$$= \wedge \{t_A(\phi(x)), t_A(\phi(y))\}$$

$$\therefore t_A(\phi(xy)) \geq \wedge \{t_A(\phi(x)), t_A(\phi(y))\} \dots (3.3.3)$$

(4) Let  $x, y \in S_1$ .

We have  $f_A(\phi(x)\phi(y)) = \{f_A(\phi(xy))\} \leq f_A(xy)$

since  $\phi$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi(x)), f_A(\phi(y))\}$$

$$\therefore f_A(\phi(xy)) \leq \vee \{f_A(\phi(x)), f_A(\phi(y))\} \dots (3.3.4)$$

(5) Let  $x, y \in S_1$ .

We have  $t_A(\phi(x) \vee \phi(y)) = \{t_A(\phi(x \vee y))\} \geq t_A(x \vee y)$

since  $\phi$  is a homomorphism

$$\geq \wedge \{t_A(x), t_A(y)\}$$

$$= \wedge \{t_A(\phi(x)), t_A(\phi(y))\}$$

$$\therefore t_A(\phi(x \vee y)) \geq \wedge \{t_A(\phi(x)), t_A(\phi(y))\} \dots (3.3.5)$$

(6) Let  $x, y \in S_1$ .

We have  $f_A(\phi(x) \wedge \phi(y)) = \{f_A(\phi(xy))\} \leq f_A(xy)$

since  $\phi$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi(x)), f_A(\phi(y))\}$$

$$\therefore f_A(\phi(x \wedge y)) \leq \vee \{f_A(\phi(x)), f_A(\phi(y))\} \dots (3.3.6)$$

from (3.3.1), (3.3.2), (3.3.3)(3.3.4), (3.3.5), (3.3.6)

Hence the theorem follows.

**Theorem 3.4:** The homomorphic pre image of a true cut-set  $t_{A\alpha}$  of L-vague semiring of L-semiring  $S_1$  is true cut-set  $t_{A\alpha}$  of L-vague semiring of L-semiring  $S_2$ .

**Proof:** Let  $B$  be a L-vague semiring of  $S_2$ , Let  $x, y \in S_1$ .

Then Let  $S_1, S_2$  be any two L vague semirings and  $\phi^{-1} : S_2 \rightarrow S_1$  be a semiring homomorphism.

$$\text{Then } \phi^{-1}(x + y) = \phi^{-1}(x) + \phi^{-1}(y), \phi(xy) =$$

$$\phi^{-1}(x)\phi^{-1}(y)$$

$$\phi^{-1}(x \vee y) = \phi^{-1}(x) \vee \phi^{-1}(y), \phi^{-1}(x \vee y) = \phi^{-1}(x) \vee \phi^{-1}(y)$$

$$\phi^{-1}(x \wedge y) = \phi^{-1}(x) \wedge \phi^{-1}(y), \phi^{-1}(x \wedge y) = \phi^{-1}(x) \wedge \phi^{-1}(y)$$

for all  $x, y$  in  $S_2$

true cut-set  $t_{A\alpha}$  of L-vague semiring of L-semiring  $S_1$

$$\Rightarrow t_A(x) \geq \alpha \text{ and } t_A(y) \geq \alpha$$

$$\Rightarrow t_A(x + y) \geq \alpha \text{ and } t_A(xy) \geq \alpha$$

$\phi : S_1 \rightarrow S_2$  be a semiring homomorphism.

(1) Let  $x, y \in S_1$ .

We have  $t_A(\phi^{-1}(x) + \phi^{-1}(y)) = \{t_A(\phi^{-1}(x + y))\} \geq t_A(x + y)$

since  $\phi^{-1}$  is a homomorphism

$$\geq \wedge \{t_A(x), t_A(y)\}$$

$$= \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\}$$

$$\therefore t_A(\phi^{-1}(x + y)) \geq \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \dots (3.4.1)$$

(2) Let  $x, y \in S_1$ .

We have  $f_A(\phi^{-1}(x) + \phi^{-1}(y)) = \{f_A(\phi^{-1}(x + y))\} \leq f_A(x + y)$

since  $\phi^{-1}$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\}$$

$$\therefore f_A(\phi^{-1}(x + y)) \leq \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \dots (3.4.2)$$

(3) Let  $x, y \in S_1$ .

We have  $t_A(\phi^{-1}(x) \cdot \phi^{-1}(y)) = \{t_A(\phi^{-1}(xy))\} \geq t_A(xy)$

since  $\phi$  is a homomorphism

$$\geq \wedge \{t_A(x), t_A(y)\}$$

$$= \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\}$$

$$\therefore t_A(\phi^{-1}(xy)) \geq \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \dots (3.4.3)$$

(4) Let  $x, y \in S_1$ .

We have  $f_A(\phi^{-1}(x)\phi^{-1}(y)) = \{f_A(\phi^{-1}(xy))\} \leq f_A(xy)$

since  $\phi$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\}$$

$$\therefore f_A(\phi^{-1}(xy)) \leq \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \dots (3.4.4)$$

(5) Let  $x, y \in S_1$ .

We have  $t_A(\phi^{-1}(x) \vee \phi^{-1}(y)) = \{t_A(\phi^{-1}(x \vee y))\} \geq t_A(x \vee y)$

since  $\phi$  is a homomorphism

$$\geq \wedge \{t_A(x), t_A(y)\}$$

$$= \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\}$$

$$\therefore t_A(\phi^{-1}(x \vee y)) \geq \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \dots (3.4.5)$$

(6) Let  $x, y \in S_1$ .

We have  $f_A(\phi^{-1}(x) \wedge \phi^{-1}(y)) = \{f_A(\phi^{-1}(xy))\} \leq f_A(xy)$

since  $\phi^{-1}$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\}$$

$$\therefore f_A(\phi^{-1}(x \wedge y)) \leq \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \dots (3.4.6)$$

from (3.4.1), (3.4.2), (3.4.3)(3.4.4), (3.4.5), (3.4.6)

Hence the theorem follows.

**Theorem 3.5:** The homomorphic image of a  $(\alpha \beta)$  cut-set  $A_{(\alpha\beta)}$  of L-vague semiring of L-semiring  $S_1$  is  $(\alpha \beta)$  cut-set  $A_{(\alpha\beta)}$  of L-vague semiring of L-semiring  $S_2$ .

**Proof:** Let  $S_1, S_2$  be any two L vague semirings and  $\phi : S_1 \rightarrow S_2$  be a semiring homomorphism.

Then  $\phi(x + y) = \phi(x) + \phi(y), \phi(xy) = \phi(x)\phi(y)$   
 $\phi(x \vee y) = \phi(x) \vee \phi(y), \phi(x \wedge y) = \phi(x) \wedge \phi(y)$   
 $\phi(x \wedge y) = \phi(x) \wedge \phi(y), \phi(x \wedge y) = \phi(x) \wedge \phi(y)$  for all  $x, y \in S_1$

$(\alpha \beta)$  cut-set  $t_{A(\alpha\beta)}$  of L-vague semiring of L-semiring  $S_1$   
 $\Rightarrow t_A(x) \geq \alpha$  and  $t_A(y) \geq \alpha$   
 $\Rightarrow t_A(x + y) \geq \alpha$  and  $t_A(xy) \geq \alpha$   
 $\Rightarrow f_A(x) \leq \beta$  and  $f_A(y) \leq \beta$   
 $\Rightarrow f_A(x + y) \leq \beta$  and  $f_A(xy) \leq \beta$

(1) Let  $x, y \in S_1$ .

We have  $t_A(\phi(x) + \phi(y)) = \{t_A(\phi(x + y))\} \geq t_A(x + y)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\geq \wedge\{t_A(x), t_A(y)\} \\ &= \wedge\{t_A(\phi(x)), t_A(\phi(y))\} \\ \therefore t_A(\phi(x + y)) &\geq \wedge\{t_A(\phi(x)), t_A(\phi(y))\} \dots (3.5.1) \end{aligned}$$

(2) Let  $x, y \in S_1$ .

We have  $f_A(\phi(x) + \phi(y)) = \{f_A(\phi(x + y))\} \leq f_A(x + y)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\leq \vee\{f_A(x), f_A(y)\} \\ &= \vee\{f_A(\phi(x)), f_A(\phi(y))\} \\ \therefore f_A(\phi(x + y)) &\leq \vee\{f_A(\phi(x)), f_A(\phi(y))\} \dots (3.5.2) \end{aligned}$$

(3) Let  $x, y \in S_1$ .

We have  $t_A(\phi(x) \cdot \phi(y)) = \{t_A(\phi(xy))\} \geq t_A(xy)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\geq \wedge\{t_A(x), t_A(y)\} \\ &= \wedge\{t_A(\phi(x)), t_A(\phi(y))\} \\ \therefore t_A(\phi(xy)) &\geq \wedge\{t_A(\phi(x)), t_A(\phi(y))\} \dots (3.5.3) \end{aligned}$$

(4) Let  $x, y \in S_1$ .

We have  $f_A(\phi(x)\phi(y)) = \{f_A(\phi(xy))\} \leq f_A(xy)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\leq \vee\{f_A(x), f_A(y)\} \\ &= \vee\{f_A(\phi(x)), f_A(\phi(y))\} \\ \therefore f_A(\phi(xy)) &\leq \vee\{f_A(\phi(x)), f_A(\phi(y))\} \dots (3.5.4) \end{aligned}$$

(5) Let  $x, y \in S_1$ .

We have  $t_A(\phi(x) \vee \phi(y)) = \{t_A(\phi(x \vee y))\} \geq t_A(x \vee y)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\geq \wedge\{t_A(x), t_A(y)\} \\ &= \wedge\{t_A(\phi(x)), t_A(\phi(y))\} \\ \therefore t_A(\phi(x \vee y)) &\geq \wedge\{t_A(\phi(x)), t_A(\phi(y))\} \dots (3.5.5) \end{aligned}$$

(6) Let  $x, y \in S_1$ .

We have  $f_A(\phi(x) \wedge \phi(y)) = \{f_A(\phi(xy))\} \leq f_A(xy)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\leq \vee\{f_A(x), f_A(y)\} \\ &= \vee\{f_A(\phi(x)), f_A(\phi(y))\} \\ \therefore f_A(\phi(x \wedge y)) &\leq \vee\{f_A(\phi(x)), f_A(\phi(y))\} \dots (3.5.6) \end{aligned}$$

from (3.5.1), (3.5.2), (3.5.3), (3.5.4), (3.5.5), (3.5.6) we have

the homomorphic image of a L-vague semiring of  $S_1$  is a L-vague semiring of  $S_2$ .

Hence the theorem follows.

**Theorem 3.6:** The homomorphic pre image of a  $(\alpha \beta)$  cut-set  $A_{(\alpha\beta)}$  of L-vague semiring of L-semiring  $S_1$  is  $(\alpha \beta)$  cut-set  $A_{(\alpha\beta)}$  of L-vague semiring of L-semiring  $S_2$ .

**Proof:** Let  $B$  be a L-vague semiring of  $S_2$ . Let  $x, y \in S_1$ .

Then Let  $S_1, S_2$  be any two L vague semirings and  $\phi^{-1} : S_2 \rightarrow S_1$  be a semiring homomorphism.

Then  $\phi^{-1}(x + y) = \phi^{-1}(x) + \phi^{-1}(y), \phi^{-1}(xy) = \phi^{-1}(x)\phi^{-1}(y)$   
 $\phi^{-1}(x \vee y) = \phi^{-1}(x) \vee \phi^{-1}(y), \phi^{-1}(x \wedge y) = \phi^{-1}(x) \wedge \phi^{-1}(y)$   
 $\phi^{-1}(x \wedge y) = \phi^{-1}(x) \wedge \phi^{-1}(y), \phi^{-1}(x \wedge y) = \phi^{-1}(x) \wedge \phi^{-1}(y)$  for all  $x, y \in S_2$

$(\alpha \beta)$  cut-set  $t_{A(\alpha\beta)}$  of L-vague semiring of L-semiring  $S_1$

$\Rightarrow t_A(x) \geq \alpha$  and  $t_A(y) \geq \alpha$   
 $\Rightarrow t_A(x + y) \geq \alpha$  and  $t_A(xy) \geq \alpha$

$\phi : S_1 \rightarrow S_2$  be a semiring homomorphism.

(1) Let  $x, y \in S_1$ .

We have  $t_A(\phi^{-1}(x) + \phi^{-1}(y)) = \{t_A(\phi^{-1}(x + y))\} \geq t_A(x + y)$

since  $\phi^{-1}$  is a homomorphism

$$\begin{aligned} &\geq \wedge\{t_A(x), t_A(y)\} \\ &= \wedge\{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \\ \therefore t_A(\phi^{-1}(x + y)) &\geq \wedge\{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \dots (3.6.1) \end{aligned}$$

(2) Let  $x, y \in S_1$ .

We have  $f_A(\phi^{-1}(x) + \phi^{-1}(y)) = \{f_A(\phi^{-1}(x + y))\} \leq f_A(x + y)$

since  $\phi^{-1}$  is a homomorphism

$$\begin{aligned} &\leq \vee\{f_A(x), f_A(y)\} \\ &= \vee\{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \\ \therefore f_A(\phi^{-1}(x + y)) &\leq \vee\{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \dots (3.6.2) \end{aligned}$$

(3) Let  $x, y \in S_1$ .

We have  $t_A(\phi^{-1}(x) \cdot \phi^{-1}(y)) = \{t_A(\phi^{-1}(xy))\} \geq t_A(xy)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\geq \wedge\{t_A(x), t_A(y)\} \\ &= \wedge\{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \\ \therefore t_A(\phi^{-1}(xy)) &\geq \wedge\{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \dots (3.6.3) \end{aligned}$$

(4) Let  $x, y \in S_1$ .

We have  $f_A(\phi^{-1}(x)\phi^{-1}(y)) = \{f_A(\phi^{-1}(xy))\} \leq f_A(xy)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\leq \vee\{f_A(x), f_A(y)\} \\ &= \vee\{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \\ \therefore f_A(\phi^{-1}(xy)) &\leq \vee\{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \dots (3.6.4) \end{aligned}$$

(5) Let  $x, y \in S_1$ .

We have  $t_A(\phi^{-1}(x) \vee \phi^{-1}(y)) = \{t_A(\phi^{-1}(x \vee y))\} \geq t_A(x \vee y)$

since  $\phi$  is a homomorphism

$$\begin{aligned} &\geq \wedge\{t_A(x), t_A(y)\} \\ &= \wedge\{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \end{aligned}$$

$$\therefore t_A(\phi^{-1}(x \vee y)) \geq \wedge \{t_A(\phi^{-1}(x)), t_A(\phi^{-1}(y))\} \dots (3.6.5)$$

(6) Let  $x, y \in S_1$ .

We have  $f_A(\phi^{-1}(x) \wedge \phi^{-1}(y)) = \{f_A(\phi^{-1}(xy))\} \leq f_A(xy)$   
 since  $\phi^{-1}$  is a homomorphism

$$\leq \vee \{f_A(x), f_A(y)\}$$

$$= \vee \{f_A(\phi(x)), f_A(\phi(y))\}$$

$$\therefore f_A(\phi^{-1}(x \wedge y)) \leq \vee \{f_A(\phi^{-1}(x)), f_A(\phi^{-1}(y))\} \dots (3.6.6)$$

from (3.6.1), (3.6.2), (3.6.3)(3.6.4), (3.6.5), (3.6.6)

Hence the theorem follows.

## References

- [1] Atanassov.K.T, More on Intuitionistic fuzzy sets, Fuzzy sets and systems,33(1989),37-45.
- [2] B.Nageswararao,N.Ramakrishana and T.Eswarlal, Translates of vague groups, International Journal of Pure and Applied Mathematical sciences. ISSN 0972-9828, Vol.7,Number 2,(2014),pp.217-226.
- [3] B.Nageswararao, N.Ramakrishana and T.Eswarlal, Translates of vague normal groups International Journal of Pure and Applied Mathematics.Vol.100,No.4, Jan-(2015),PP.1311-1323.
- [4] Gahu.w.L.Buehrer.D.J.,vague sets IEEE Transactions on systems,Man and cybernetics vol.23(1993),610-614.
- [5] Goguen.,A,L-Fuzzy sets, J. Math. Anal., Applic., 18(1967), 145-174.
- [6] N.P.Mukharjee, Fuzzy normal subgroups and fuzzy cosets, information sciences 34, 225-239(1984).
- [7] N.Ramakrishana, B.Nageswararao, T.Eswarlal and ch.satyanarayana, Anti-homomorphisms in vague groups(IJMSEA)ISSN 0973-9424, vol.6, No.2. (March,2012),PP.449-459.
- [8] N.Ramakrishana, CH.Satyanarayana and B.Nageswararao Some characterizations vague groups. vague normal groups (IJMSEA),Vol.6,No:3(May,2012), pp.387-397.
- [9] Ramakrishna.N, and T.Eswarlal,and GSVs saibaba, A.Characterization of Cyclic Groups in terms of L-Fuzzy Subgroups. Southeast Asian Bulletin of Mathematics. Vol.33(2009),913-916.
- [10] Ranjit Biswas, Vague Groups, Int. journal of computational cognition ,Vol.4 No.2,June 2006.
- [11] Ramakrishana.N ,T.Eswarlal, Boolean Vague sets, Int. Journal of Computational cognition, Vol.5,No.4 (2007),50-53.
- [12] Ramakrishna.N,A Characterization of cyclic in terms of vague groups,Int.journal of Computational cognition,Vol.6 No.2(2008),17-20.
- [13] Ramakrishna.N,Vague groups and vague weights, Int.journal of computational cognition, Vol.66 No.1 (2009),913-916.
- [14] Rosenfeld A. Fuzzy groups. Jon.Maths.Anal.Appli. 35(1971)512-517.
- [15] T.Eswarlal L-Vague sets and L-Vague relations, International journal of computational cogninator ,Vol and No.1 March 2010. [16]. Zadeh,L.A., Fuzzy Sets, Infor and Control, volume 8 (1965) 338-353.